TOYOTA T-100 P.U. 4 WD EXT. CAB. 95-98
SIDE BARS

Set SideBars
Set  Mounting brackets
pc %' x1%" hex head bolts
pc 1/2" x 1 1/4” hex head bolts
pc  5/16” x 1" hex head bolts
pc  5/16” 13 hex nuts
0 pc ¥ lock washers
pc  5/16" lock washers
16 pc ¥’ flat washers
pc  5/16" flat washers

0oooooooon

INSTRUCTIONS:

1.- Remove contents from the box and check for any damage. Verify dl parts against parts
list.

2.- Read and understand instructions completely before begining installation.

3.- Ingtall front mountig bracket using ¥2” x 1 %4’ |g. hex head bolts, %2’ flat washers, , %2’
lockwashers, ¥2" hex nuts, and backing plate. (backing plat, and bolts must be placed in
through the underside of body mount with bolts protruding through holesin bottom of body
mount, as shown in parts diagram.) tighten finger tight.

4.- Install rear mounting bracket using 5/16” x 1” Ig. hex head bolts, 5/16” flat washers,
5/16" lockwashers, 5/16” hex nuts, and %2’ x 1 %4’ log. Hex head bolt, 2" flat washers, and
lockwasher. (Place bolts through holesin body mount as shown in parts diagram.)

Tighten finger tight.

5.- Place step bar tube up to front and rear brackets and fasten with %2’ x 1 %2" Ig. hex head
bolts, %2’ flat washers, and ¥2" lockwashers. (as shown in parts diagram) tighten, and torque
step bar bolts to 65 ft/lbs.

6.- Check to be sure step bar is properly aligned with truck, then tighten and torque mountig
bracket bolts. (/2" bolsts - 65 ft/Ibs.) (5/16”D bolts - 15 ft/Ibs.)

7.- Clean flattened area.

Firmado digitalmente por E.
Arana N\

cn=E. Arang/c: X

Fecha: 2005.05.27 09:28:00
-06'00" LA

Motivo: <ninging>
Fecha Max. Emp: 18/Mar/2007



Assembly Diagram

5/16 x 1"
.1/2 X 1 .1/2u ?‘/ HeX head BOIt
Hex head Bolt ‘F ,;
\ I 1
|
|
1/2x11/4" il Rear
ﬁ 4« Hex head Bolt QN\"\ » / Bracket
ﬁ .
i
I
|

: Auxiliary /]
4« Front Bracket -

|
} 1/2x 1 1/4"
|
1

I

i
!
I Hex head Bolt
I
!

Front
/ Bracket
/ \‘\\/ 7
.
1/2x11/2" ~~

Hex head Bolt
Sidebar



	HoyE: Fecha Máx. Emp: 18/Mar/2007
		2005-05-27T09:28:00-0600
	E. Arana
	<ninguna>




